TP n°5

Résoudre une équation

Niveau quatriéme :

Résoudre les équations suivantes :
a. —6x+18=0
b. 21z +3 =6z — 12

Niveau troisiéme :

Résoudre les équations suivantes :

a. b(x+2)=-182+3
b. 622 +3 = -7+ 3x(2z — 5)
c. (dx—5)(83z+9)=0

Niveau seconde :

Résoudre les équations suivantes :

a. (x—1)(—4dz+2)— bz —2)(x—1)=0
22T

b. 6z° = >

c. Qx+1)dx—-7)=-7

d. 422 =122 +9=0

e. (6z+3)(—2x—9)=0

Niveau seconde* :

Résoudre les équations suivantes :
a. (4r—3)2=9

b. (—z+2)?= 3z —17)?

c. 22 +4x+3=0
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d. 51'3 = §I2



